Toss the Feathers

Arr By Paul Slater
TablEdit by David J Payne

Sy
A U o | - ~— ~— 1
" 4 . ‘ 5 ‘—
Q) ] J Hjﬁv_‘_i
8ra .
Triangle
=DownStroke

Po H Po Po H
4 VR 7~ N\ VR 7~ N\ 7~ N\
5—4—2—0 [0 5420 2 2-2-0-2—0-2—
-T—5 0 Al 0—0 0
L A 2 . I
B B 4 I
A ©) ©) ©) A A
C L) TJJ ? JO00
NV
e
8U6l
Po H Po Po H
7 N\ N\ N\ VR 7~ N\
4—2—0-—2—4-2-10 9 9 0 4—2—0—2—
- T 5——7 7 7 5
- A 9—1+—9—+-9—9 9
- B

o o o o o O



pToss the Feathers

@
SV
e
Sua
Po H Po H
0 ~ ~ ~ ~—~
2—2—0—2 0—2 4—2—040——7—79 5—7 4—
-T 0 5—7
- A
- B
. / e /
A ©) A

Po
3 ~
5 4—72—0
T 0
- A 2
- B 4—

Page 2/ 2




